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1.	 x = ò11 + ñ7 → x2 = (ò11 + ñ7)2 = 11 + 2ò77 + 7 = 18 + 2ò77
y = ò12 + ñ6 → y2 = (ò12 + ñ6)2 = 12 + 2ò72 + 6 = 18 + 2ò72
z = ò10 + ñ8 → z2 = (ò10 + ñ8)2 = 10 + 2ò80 + 8 = 18 + 2ò80
⇒  z > x > y

Cevap: E

2.	 0 < x < 2

x x x x4 4 5 72 2- + + - +^ h

= x x x2 5 72 2- + - +^ ^h h

= x x x2 5 72- + - +
	
	 < 0

= x x x2 5 72- + + - +

= x x6 92 - +

= x 3 2-^ h

= x – 3
	
	 < 0
= –x + 3
= 3 – x

Cevap: D

3.	 x > 0,

x x 4 4 3- + =^ h    ⇒	 x x4 42 - + 	 = 3

	 x 2 2-^ h 	 = 3

	 x – 2	 = 3

1) x – 2 = 3   ⇒   x = 5
2) x – 2 = –3   ⇒   x = –1   olmaz!   (x > 0)

Cevap: B

4.	 x < 0 < y

x y x y x y2 33 2 2- + - - + -^ ^ ^h h h
= x – y + x – y – x + y
	 	 	
	 < 0	 < 0	 > 0
= – x  + y  + x  – y  – (–x) + y = x + y

Cevap: C

5.	 b
a

a
b

b
a22
3

c m 	= .b
a

a
b

b
a.

2 3
2 2$ c cm m

	 = . .b
a

a
b

b
a

b
a4

2 2
$ c cm m

	
	 1

	 = b
a

b
a4$

	 = b
a

b
a1 4

1
$c cm m

	 = b
a 4

5

c m

	 = b
a4
5

c m

Cevap: A

6.	 	 a a a1 16 16 2 81 812 2 2+ - + + + 	= 45

⇒	 . . .a a a1 16 1 2 81 1+ - + + +^ ^h h 	= 45

	 ⇒     . . .a a a1 4 1 2 9 1+ - + + + 	= 45

	 ⇒     15. a 1+ 	= 45

	 ⇒     a 1+ 	= 3
⇒    a + 1 = 9   ⇒   a = 8

Cevap: C

7.	 0 < x < y
x y x y x 02 44 33 4- - - + =^ h

⇒	 x – y – x – y + x2	= 0
	 	
	 < 0	 > 0
	 –x + y  – x – y  + x2	= 0
	 x2 – 2x	= 0
	 x.(x – 2)	= 0  ⇒  x = 0  olmaz!  (0 < x)
	 x – 2	= 0   ⇒   x = 2

Cevap: B
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8.	 	 x x2 8 163 3- + - 	= 6

	 .x x2 8 23 3- + -^ h 	= 6

	 .x x2 8 23 3 3- + - 	= 6

	 .x x2 2 23 3- + - 	= 6

	 . x3 23 - 	= 6  ⇒	 x 23 3
-^ h 	= 23

			  x – 2	= 8
			  x	= 10

Cevap: E

9.	 x ∈ [–2, 2]   ⇒   –2 ≤ x ≤ 2
x x2 32 2- + +^ ^h h 	= x – 2 + x + 3

	 	
	 < 0	 > 0
	 = –(x – 2) + (x + 3)
	 = – x  + 2 + x  + 3
	 = 5

Cevap: D

10.	 	 .
a
x y 2=

	 .
b
x z 3=

x	 .
c
y z 4=

. . . . .
. .

x y x z y z
a b c  = 2.3.4	 ⇒  . .

. .
a b c
x y z2 2 2

 = 24

	 ⇒  . .
. .
a b c
x y z

 = 24

Cevap: D

11.	
x y
x

x y
y
–

y yx x
+

+

- +^ ^h h

 = 2
3

. .x

x y

x y y x y
2 2
-

- + +^
^ ^

^
h
h

h
h

 = 2
3

. .x x y x y
x y

y
-

- + +
 = 2
3

x y
x y

2
3

-

+
=   ⇒  2x + 2y = 3x – 3y  ⇒  x = 5y

	 ⇒	 y
x  = 5

Cevap: A

12.	
a b

a b b a

ba
+

+

-^ h
	= 

.
a b

a b b a a b
2 2
-

+ -^
^ ^

^
h
h

h
h

	 = . .. .a a b a b
a b

a b b a b
-

- + -

	 = 
. .a b
a b
a b
-

-^ h

	 = .a b
Cevap: E

13.	 x < 0

x x x x2 12 2 33- + + - -  = x x x1 2 2 33- + - -^ ^h h

	 = x – 1 + x – (–x)
	 	
	 < 0	 < 0
	 = – x  + 1 + – x + x
	 = 1 – x

Cevap: A

14.	 x x1 13+ = +

1)	 x + 1 = 0	 ⇒   x = –1
2)	 x + 1 = 1	 ⇒   x = 0	

⇒  (–1).0 = 0

Cevap: B
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15.	 a = 3 + ñ3

b = .a a3
3 273

24
2

+
 = .a a3

3 33

2
1

+
3

	 = . .
a

a a3
3 3 "+

	 = .
a
a3  = ñ3

Cevap: E

16.	
a

a a
a a

a
1
123

3 23

3

+

+
-

+

-

= 
a a

a a

a

a

1

1

( )a

3
1

3
2

1
3
2

3
1

3
1

+

+
-

+

-

^ h

= 
a a

a a a a

3
1

3
2

3
2

3
1

+

+ - +  = 
a a

a a

3
1

3
1

+

+  = 1

Cevap: D

17.	 b < 0 < a  olmak üzere;
a b b a3 2 2- - -^ ^h h 	= 3a – b – b – a

	 	
	 > 0	 < 0
	 = (3a – b) – (–b + a)
	 = 3a – b  + b  – a
	 = 2a   

Cevap: A

18.	 	 x
x 5

5
2

-

+e o 	 = (ñx + 5)2

	 x
x 5

5
-

+ 	 = x 5+^ h .(ñx + 5)

	
x
1
5-

	 = ñx + 5	 ⇒	 (ñx + 5).(ñx – 5)	 = 1

			   ⇒	 (ñx)2 – 52	 = 1
			   ⇒	 x – 25	 = 1
			   ⇒	 x	 = 26

Cevap: C

19.	
6 1
10

2 1
3

2 3
6

6 1 2 1 2 3
-
+

+
-
-

+ - +^ ^ ^h h h

= 
. ..

1
10 6 2 3
6

1
2 1

3 2 1
2 3
6

2 2 2 2 2 2
-

+
+

-

-
-

-

+

^
^

^
^ ^

^h
h

h
h

h
h

= 
. . .10 6
5

1
1

3 2 1
1

6 2 3
2

+
+

-
-

+^ ^ ^h h h

= 2 6 2 3 2 3 2 6 18
3 2

+ + - - -:

= 2 – 3 = –1
Cevap: A

20.	 21
7 5
15 10 14 3 2$
-

- + -
+^ h

= 21
7 5
14 15 10 3 2$
-

- - +
+^ h

= 
. .7 2

7 5
3 5 3 2

3 2$
-

- - -
+

^ ^ ^h h h

= 
.

7 5
3 2 7 5

3 2$
-

- -
+

^ ^ ^h h h

= (ñ3 – ñ2).(ñ3 + ñ2)
= (ñ3)2 – (ñ2)2 = 3 – 2 = 1

Cevap: A


